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ODagp ODggp
BT DT —H FH o+ D BT — & Ty 4 D
1 2 3 1 2 3
TEy 0.062 0.063 0.063 0.063 = 0.001 0.052 0.053 0.053 0.052 =+ 0.001
[t 14 3} B 1.025 0.988 0.977 0,996 = 0.025 0.045 0.047 0.046 0.046 =+ 0.001
o5 P4 s R 0.110 0.100 0.106 0.105 = 0.005 0.041 0.043 0.043 0.042 =+ 0.001
TR 0.819 0.812 0.846 0.826 = 0.018 0.045 0.045 0.045 0.046 =+ 0.000
SD: Standard deviation
#3 7oLz [BYEEE, BB R L OB E oM A TR
(ODyg5p - ODggy) - 7727 (ODys ~ ODgsp) AR AETEE O)
BT —H T+ D BT T — S + D
1 2 3 1 2 3
757 - - - = = = = =
i PE %t PR 0.969 0.931 0.921 0.940 = 0.025 103.1 99.0 98.0 100.0 =+ 2.7
5 {1k o B 0.059 0.043 0.053 0.053 = 0.006 6.2 5.1 5.6 56 + 0.6
TR 0.764 0.757 0.791 0.770 = 0.018 81.2 80.5 84.1 81.9 = 1.9

sD: Standard deviation
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